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private java.util. Timer timer = null. public void
contextinitialized(ServletContextEvent event) { timer = new
java.util. Timer(true). event.getServletContext().log("UJ O O O [
[ ™). timer.schedule(new MyTask(event.getServletContext()), O,



60*60*1000). event.getServletContext().log("U O O O O O O O
[1™). } public void contextDestroyed(ServiletContextEvent event) {
timer.cancel(). event.getServiletContext().log("C O 0O OO 00 "). } O
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OO00000O private static final int C_ SCHEDULE. HOUR =
0. private static boolean isRunning = false. private ServletContext
context = null. public MyTask(ServiletContext context) {
this.context = context. } public void run() { Calendar cal =
Calendar.getinstance(). if (!isRunning) { if
(C_SCHEDULE_HOUR == cal.get(Calendar.HOUR_OF_DAY))
{isRunning =true. context.log("U O O OO OO O")./TODO I
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context.log("UJ O O OO O OO " 1"/" 10). } isRunning = false.
contextlog("U O OO O OO O").}}else{context.log("] OO I [
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